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QUESTION 1

Why does Business Automation Insights use index patterns? 

A. To find human task summaries based on the time stamp field 

B. To find process instance summaries based on the time stamp field 

C. To distinguish active and complete summaries 

D. To parse summaries to find details from activities and process instances 

Correct Answer: B 

 

QUESTION 2

Which statement describes User Management Service Teams? 

A. An option to perform authorization on behalf of the apps and components 

B. A company-wide API tool that manages business-oriented user KPIs 

C. A company-wide user registry with many groups 

D. A collection of users, groups, and other teams to administer global units across different Cloud Pak components 

Correct Answer: D 

 

QUESTION 3

What is the underlying platform of Automation Digital Worker Skill Development? 

A. NodeJS 

B. Python 

C. Ruby 

D. Java 

Correct Answer: A 

 

QUESTION 4

In which capability can process routing rules that orchestrate workflow tasks be implemented? 

A. Business Automation Workflow Rule Table 

B. Operational Decision Manager Decision Service 
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C. Blueworks Live Decision Tree 

D. Workstream Services Form 

Correct Answer: A 

 

QUESTION 5

Which process capability should be used for a use case requiring manager escalation when a task is not completed? 

A. Business Automation Workflow 

B. Blueworks Live 

C. Robotic Process Automation 

D. Workstream Services 

Correct Answer: D 
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